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ho P _ 101x10° kgm™ 72
~pg 1.0x10° kgm™ x9.81ms?
=10.3 m
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[FRE 3]

(@) [EDRREAREKXDOEER LY

104 kPa x2.0 m* 52 kPa xV
294.3 K ~ 268.2K

V=36m

(b)

104 kPa x2.0 m* _ 0.88 kPa xV
294.3 K - 2212K

V=177 m®

[E1%E 4]
(a) [EDIKEAERX XY, H2 (X 2atm, N2 & 1atm,
(b) FILbr@ERNIZKY, £F (X 3 atm,

[Fx& 5]

1 mol H-YDTEHTHILF—%(E)”) . —HFHIYDTIE (E,)ET B,

(Ep) - %RT :;x 8.31 1 K mol™ x 298 K = 3.71 kJ mol"

(Ec)=(EZ)/ N, =3.71 kJ mol™ /6.02x10” mol™ =6.16x 10" J
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d Z7IIAVEFOERETDE, 7d2=06=0.36 nm? &Y. d=0.34 nm,
B RT

= 22N, op
KUY,

A =10d

3 RT
2"’N,ox10d

B 8.31kPa L K" mol™ x298 K
2"2%6.02x10% mol™" x0.36 nm? x10x0.34 nm

p

=2.4x10° kPa
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S[UEDIKREAFIERX pV =nRT ZEETBE.
A RT %

" 2”N,op 2"nN,c
KY.FEE—ETHE. 2 (FEREICEKEFELZVDGRENENIED FOREIN RS
NARELNEDLLLITNIE, D FERFLEOERETOERE"IFEHLLLY),

(78 8]
CHs ®OEJILEE 16.05 g mol™
MEE n=4.50g /16.05 gmol" =2.80x10" mol
(a)
O = =P AV

=-30.0 kPa x3.3dm?

=-99J
(b)

V.

w=-nRTIn—L
V.

1

16.0 dm?®

=-2.80x10" mol x8.31J K™ mol™ x 310K xIn -
12.7 dm

=-167 J
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[RE5E 10]

HEOEIE V =55x6.5x3.0m°> =107x10° L

MEE n=107x10° L /24.8 L mol” = 4310 mol
ITHRLE— E=21JK " mol”" x10 K x4310 mol =905 kJ

905 kJ
spg po P K g3
Sl 15kds "

[ERE 11]

BELER AT=25K

q=nC,AT =29.4 JK" mol”" x25K x3.0 mol =2.21kJ
EEBIEGEDT, AH=q9=2.21kJ

KIS T AV - nRAT _ 3.0 mol x8.21x1072 L atm K™ mol™" x25 K

3.25 atm
KEEILIZLDHESE
ow=-pAV =-325atm x1.89L =-3.25x101kPa x1.89x10° m* =-0.62 J
AU = AH — pAV =1.59 kJ

=1.89L
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Clz(g) — 2CI(g) + 242 kJ mol!

Cl(g) — CI*(g)+e + 1260 kJ mol

Cl(g)+e (g) — CI(g) -349 kJ mol’
EILIZIILE—ZEE AH,_ =1153 kJ mol™
YEE n=10.0 g/(35.45 gmol” x2)=0.141mol
AH =1153 kd mol™" x0.141 mol =162 kJ

[RA%E 13]
CsH1206 (s) + 602 (g) — 6CO2 (g) + 6H20 (1)
J)La—X CeH1206 DEILE=
M =6x12.01gmol” +12x1.001g mol™" + 6 x16.00 g mol™' =180.1g mol™
MEBE=E n=0.32129g/180.1gmol”" =1.783x10° mol
PRSI RILY—ELL AU=-CAT =-641JK"'x7.793 K =-4995 J
IEERBERE T RILE— A U° =-4995 J /1.783x10"° mol =-2801kJ mol”
ZREMBETZILE—
AH°=AU° + AV, RT
= -2801kJ mol" +0xRT  (Av,,, =0)
— -2801 kJ mol”
AH°(C.H,,04(s)) = 6 x A,H°(CO,(g)) + 6 x A,H°(H,0()) - A ,H*(C,H,,04(s))
=6x-393.51kJ mol™ +6x-285.83 kJ mol™”" +2801kJ mol™
=-1275 kJ mol™

[[5=8 14]
2NO2 (g) + 1/2 O2 (g) — N20s5 (g)
A,H® =-110.2 kd mol™" /2=-55.1kJ mol™

2NO(g) + O2(g) — 2NO2(g)
AH° =-114.1kJ mol™

2x A,H°(NO(g)) = 180.5 kJ mol™”
AH°(N,0,(g)) = 180.5 kJ mol™" —114.1 kJ mol™" —55.1 kJ mol™”
=11.3 kJ mol™



